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01 At 22l 20,000 15,000 5,000
O=23M =cIEDN L2t 20,000

4 Do 2435 N (21) 148,190 138,901 9,289
= 102,200
< 45,990

308 XXM SO0 A 148,190 138,901 9,289
= 102,200
= 45,990

01 IXNHHBNEES 148,190 138,901 9,289
Odzu=sz 2483 XA 148,190
= 102,200
< 45,990

SRS Motz (F1) 100,000 100,000 0
= 100,000

308 XtXIEHH SOl A 100,000 100,000 0
= 100,000

01 X HHILEES 100,000 100,000 0
O=2"=2stM Mat2te| 100,000
= 100,000

23N 2E A N (=21) 957,000 493,500 463,500
= 660,000
< 297,000

308 MtXIEHMSOIH 957,000 493,500 463,500
= 660,000
< 297,000

01 HXNHHNBHEELES 957,000 493,500 463,500
OMMESII At 957,000
= 660,000
< 297,000

A0t SH= ME, S BEAML(S1) 630,750 364,500 266,250
= 435,000
< 195,750

308 XXM SOIA 630,750 364,500 266,250
= 435,000
< 195,750

01 IXNHHBNEES 630,750 364,500 266,250
Ogw ANA¥ 23 &2 M 630,750
= 435,000
< 195,750

MR STH2e ¥ EEXNEAE(21) 41,000 51,000 A 10,000
= 41,000

308 XXIEHHSOIA 41,000 51,000 A 10,000
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OMIAR L EE2XAALS 41,000
= 41,000
23 ssSAE(=212) 1,580,040 1,463,000 117,040
J| 790,020
< 790,020
307 21201 A 1,580,040 1,463,000 117,040
J| 790,020
< 790,020
02 LAFAAFEX 1,580,040 1,463,000 117,040
O=sM =5 At 1,580,040
J| 790,020
= 790,020
AR QI=SAL XRA(21) 25,280 28,655 A3,375
J| 22,400
< 2,880
308 AHAIEHHSOIA 25,280 28,655 A 3,375
J| 22,400
< 2,880
01 HIXNHHNBHEELES 25,280 28,655 N 3,375
OXHZ L I=SHAL X J 25,280
J| 22,400
< 2,880
23t OF& (®R1T)ALE (=2 12) 609,000 591,000 18,000
2 420,000
< 189,000
308 XXM SOl A 609,000 591,000 18,000
= 420,000
< 189,000
01 IXNSHHBNEES 609,000 591,000 18,000
O=23tM OF8H (&1T)ALL 609,000
= 420,000
< 189,000
23N MY HiX & 2E(=21) 449,020 419,309 29,711
J| 345,400
< 103,620
308 MtXIEHMSOIH 449,020 419,309 29,711
J| 345,400
< 103,620
01 HXNHHBHEELS 449,020 419,309 29,711
O=ZstM M ZHIE BIX & & 449,020
J| 345,400
< 103,620
23 S2HAIE X2l XNB(22) 134,695 200,265 A 65,570
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J| 119,350
< 15,345
01 HIXNHHBNEES 134,695 200, 265 A 65,570
O23M ZMAE sFX2el X 134,695
J| 119,350
< 15,345
23 HHEXAE 2H(=21) 267,920 1,320, 166 A 1,052,246
J| 233,600
< 34,320
403 X SHS X =0l H 267,920 1,320, 166 1,052,246
J| 233,600
< 34,320
01 AXSHMA2E = 267,920 1,320, 166 A 1,062,246
Ot MHETHAIE 2= 267,920
J| 233,600
< 34,320
HELAMIST BEEAML(Z1) 152,250 171,000 A 18,750
= 105,000
< 47,250
308 A EHHSOIA 152,250 171,000 A 18,750
= 105,000
< 47,250
01 HXNHHNBHEES 152,250 171,000 A 18,750
ONSLAIZS T &S At 152,250
= 105,000
< 47,250
DE - B2 #22Ag(=21) 127,400 0 127,400
= 98,000
= 29,400
308 XXM SO0 A 127,400 0 127,400
= 98,000
= 29,400
01 IXNHHBNEES 127,400 0 127,400
O - S 2EAMNE 127,400
= 98,000
< 29,400
NHI3 R D ME(=1) 62,400 117,000 A 54,600
J| 48,000
< 14,400
308 XtXIEHHSOIA 62,400 57,000 5,400
J| 48,000
< 14,400
01 HXNHHBHEELS 62,400 57,000 5,400
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02 B AAFER 200,000 200,000
ODMZ M H =& SX 200,000
LA E5 & &= 30,000 30,000
308 At EHHSOIA 30,000 30,000
01 HIXNHHBHELS 30,000 30,000
O=2ALTHEMM ES = 2= 30,000
O AA2s32 W & 20,000 20,000
308 XXIEHHSOIA 20,000 20,000
01 HIXNHHBNEES 20,000 20,000
O&= o2tdinI=& 20,000
Y LM B (21) 130,000 130,000
= 100,000
< 30,000
308 XX EHHSOIA 130,000 130,000
= 100,000
= 30,000
01 AXHHILEES 130,000 130,000
oOXd RERL 2 130,000
= 100,000
< 30,000
2 drLs2 230=WS A BIXI( 17,400 17,400
= 12,000
< 5,400
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= 12,000
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OSEEsM A== Stol= W= A HH X 17,400
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< 5,400
2o Y Mgl Al 19,500 19,500
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